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BRCA: Body vs. TSS1500 p=6.7e−59
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UCEC: Body vs. TSS1500 p=0.039
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THCA: Body vs. TSS1500 p=5.2e−57

●

●

●●●
●

●

●

●
●

●

●

●

●

●●●

●

●

●

●●
●
●

●

●

●
●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●
●

●

●

●
●

●

●

●

●

●●●
●●
●●●

●●●

●

●

●

●

●
●

●

●

●
●

●

●

●

●
●

●

●

●

●

●

●
●

●

●

●

●

●

●●

TSS1500 TSS200 5'UTR 1stExon Body 3'UTR

0.
5

0.
6

0.
7

0.
8

0.
9

1.
0

A
U

C

LUAD: Body vs. TSS1500 p=8.5e−27
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BLCA: Body vs. TSS1500 p=5.6e−06
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LUSC: Body vs. TSS1500 p=5.4e−31
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COAD: Body vs. TSS1500 p=3e−37
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HNSC: Body vs. TSS1500 p=2.5e−57
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KIRC: Body vs. TSS1500 p=2.9e−58
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LIHC: Body vs. TSS1500 p=8.3e−34
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READ: Body vs. TSS1500 p=4.5e−17
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PRAD: Body vs. TSS1500 p=6.1e−22
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KIRP: Body vs. 5'UTR p=1.2e−41
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PAAD: Body vs. 5'UTR p=6.9e−06


